ERRI0FEE FEEIFEE

H30& 4HA1R ~ H314 3H31H ¥T

BEREMBEBBAR RS F - Fla=f—var e

(EAL: 1)
£ H & B
I RERIRE
1. P ey
Erai =4 540,000
Zghaax e 85,000
TOMDT2 % 0
2. A 4 99,152 724,152
3. =2 Ul 4 5
B3 E ) 2,447,176
i IR (st ) 361,926
= Il (AL [R5 /el 1) 300,000
IRk E (1 H5%) 55,000
SR (U —L) 70,000 3,234,102
4. I 4
()5 F a3 a = G i T I
S R 216,450
s i 1,060,800
ALV (NMIHE) S5 664,218
Gy FyF AL = U U 339,864
(3) HoF eaia=lr—a O WHFRHE 0
@777 ELCosyF aia=r =y a i 87,750
(5) SR JERE VB D78 D+ 5 T X PEEa) S 743,150 3,112,232
5. ZORLDIL 4%
=2 BORILS, 16
.............. M AE 0 16
R INAEEH(A) 7,070,502
OEREA. ...
1, BXR
(1) NMEFER
fag-F24 720,000
.......................................... bl % 623,500
Rl A 2 0
INGR -6 1,343,500
O XoHiEE
EHEFE GO 329,542
gt E (B ER - T Dfih) 0
A 2,847,255
ENTIESN 90,387
A AR 235,340
5 117,656
B 96,851
THAESL T 120,528
oy 3 13,308
SRR 433,121
i i ¢ 10,940
WHE % 4,620
f 0
4,299,548
5,643,048
2.
(Y K&
[ 0
] 0
AR 1,920
MNERED 1,920
(2) Z DA 2SR
Ziath (ST S) 156,433
F{ ] *QA# 20
ey 46,945
WHEZ 0
IRAE A E R 141,540
JE S G 212,070
YHFEN 2 12,615
i o 2 229,968
HITC S CROB e B A ) 124,600
BEfEEL 98,600
PRBEL 22,308
A 37,000
FLBIZARE 2,700
SCEAFHOE 1,334
i 7,700
He 0
............. EORERE 1,093,833
_____________ gt 1,095,753
P HEB) 6,738,801
4 0 TEBR R PE I AR (A)—(B) 331,701
BT RN 1 DR BY FE 4 577,085
WKk IE Dk R B 2R 908,786

KEDMOFHITFL TOEEA,




